Chapter 3 Test Version A


Name ___________________________

1. Using ruler, protractor and pencil, make a neat detailed scale drawing showing the addition of the following two vectors. The first vector is: 185 km  W  29o N. The second vector is 157 km  S 17o W. Express the resultant displacement in the blank provided. Do not use your calculator.

___________________________

2.
Using your calculator, add the following three vectors. 57 m/s (S 39o E),   81 m/s (N 61o E) and 102 m/s 


(W 21o N). Place the value of the resultant velocity in the blank provided. 

___________________________

3.
Using your calculator, add the following four vectors. 83 km (W 72o N),   46 km (E 31o S),  62 km 


(N 52o E) and 102 km (S 63oW). Place the value of the resultant velocity in the blank provided.

___________________________

4.
Resolve the following vectors into horizontal and vertical components.


a.
67 m/s E 87oN    horizontal ____________________    vertical _____________________



b.
956 km W 27oS    horizontal ____________________    vertical _____________________
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